matki sHoweriING

MODEL LCB
ELEGANZA HINGED BATH SCREEN
INSTALLATION INSTRUCTIONS

4 AV

\ AN

/

TOOLS REQUIRED KIT OF PARTS QTY
Hinge Cover 1834 A 2

ki Wall Jamb Cap 1835 A 1

Masonry Drill bit 6mm No. 8 x 10mm Pan Head Self Tap Screws 1420 4
Electric Drill No. 8 x 32mm Csk Head Self Tap Screws 1443 1
Tape Measure No. 8 x 32mm Pan Head Screws 1471 4
Level Plastic Wall Plugs 1818 5
Screw Drivers Alan Key 3mm and 4mm 1167/1166 1
; Soap Dish Assembly 1
ge;‘lcﬂ Gl Tube of Sealant 1967 1
afety Glasses Guarantee Card 1061 1

\

IMPORTANT

Before disposing of carton and/or commencing assembly, please check all the parts to ascertain that none are
missing and they are all undamaged. No claim for missing/damaged parts will be accepted once the packing
carton has been disposed of and/or assembly has commenced.

In case of query contact your Stockist with details of model number, finish and details of quality control slip.

PREPARATION

Please read complete installation instructions before fitting.

The Bath Screen assembly should be installed after the bath and wall coverings are in place.

Ensure bath is level. Seal between bath and tiles. Remove any excess sealant from the area/joint between the
bath and tiles where the wall jamb will be fitted this will ensure the Wall Jamb fits correctly to the wall and
bath. Carefully remove the Bath Screen from carton, do not place glass on hard floor.

CAUTION: TEMPERED GLASS CANNOT BE CUT, POLISHED METAL AND CHROME CAN BE

4 N

SCRATCHED.

\ /

/

HOW TO CARE FOR YOUR MATKI SCREEN

Never use scouring powder or pads or sharp instruments when cleaning the Screen. Wipe the Screen after use.
Occasionally wipe the Screen with a mild detergent diluted with water and polish with a soft cloth. If you live
in a hard water area, periodically clean with a 50/50 solution of white vinegar and hot water. Soak for 5
minutes and remove any limescale residue with a household glass cleaner. This is all that is needed to keep the
glass and anodised aluminium parts looking new.

Do not use acidic-based descaler products or products which are unsuitable for cleaning enamelled surfaces,
including abrasive cleaners or cleaners containing bleach or solvents, as the products will effect the anodised
framework. Under no circumstances use cleaners with a pH level exceeding 8.

We recommend that these instructions are handed to the user with a note of date of purchase, model details and
finish. To order replacements quote: Part Description, Model Number and Colour.

Stage 1

Important.

slots (1b).

Stage 2

The Bath Screen is handed the diagrams show a left-hand hinged Bath Screen.

Position the Wall Jamb (located outside Panel Frame) on top of the bath with the ~
inside edge of the Wall Jamb aligned to the inside top edge of the bath so that the

Hinged Glass Panel slightly overhangs the bath rim at the hinge end.(1a)

Plumb the Wall Jamb for upright and mark the fixing holes on the wall in the centre of the .

Drill the fixing holes in the wall and insert the Wall Plugs. Clean the area.

Apply Silicon Sealant to the area behind the Wall Jamb between the bath and the tiles and [N
100mm up the wall, central to the width of the Wall Jamb (2a).
Fit the Wall Jamb with the No. 8 x 32mm Pan Head Wall Screws.
Apply Silicon Sealant to the inside face of the Wall Jamb panel aperture,between the bath
and Wall Jamb, and 100mm upwards central to the inside face. (2b)
/

\

@ '~x4
~

WO
-

Y

Stage 3

The Bath Screen is handed the diagram shows a left hand hinged Bath Screen.
Before fitting the Bath Screen onto the bath you will need to fit the Soap Dish Bracket to the Small Glass Panel.

Fit the Clear Button Washers into the hole on both faces of the Small Glass Panel .

The chrome Square Glass Button sits into the Clear Button Washer on the outside face and the Soap Dish Bracket fits
into the Button Washer on the shower side face of the glass. Secure the Soap Dish Bracket to the Square Glass Button
with the M5 x 12mm Csk Socket Head Screw. (3a)

Carefully fit the frame of Small Glass panel into the Wall Jambs and lower the Bath Screen onto the bath.
Secure the Small Glass Panel frame to the Wall Jamb with the No. 8 x 10mm Pan Head Self Tap Screws.
Adjust the Small Glass Panel to the bath using the Wall Jamb adjustment slots. (3b)

Adjust the Hinged Glass Panel to the bath.

To adjust the Hinged Glass Panel to the bath , loosen the M6 (factory fitted) Csk Socket Screws in the Hinges
sufficiently to allow the Hinged Glass Panel to be moved within the adjustment slots in the Hinges.

When the adjustment is finished tighten the M6 (factory fitted) Csk Socket Screws. (3¢)

Should the black gasket at the bottom of the Hinged Glass Panel be too tight on the bath when opening and closing
the screen re-adjust the hinges as described above or remove the black gasket. This will not effect the efficiency of
the screen. To remove gasket, pull out the black rubber stop at the hinge end of the bottom frame, slide out the gasket
and replace the rubber stop.

Fit the Wall Jamb Cover. (3d) when adjustments are finished but before the Soap Dish is fitted . (Stage 4a)

”@ 5

\

)0

Stage 4

Fit the Soap Dish to the Soap Dish Bracket on the Small Panel Glass using the M5 x 12mm Csk Socket !{ead‘SQrews
and the white Clamp Washers. Adjust the opposite Soap Dish Bracket to the wall and mark the centre of the fixing hole.

Remove the Soap Dish assembly from the glass side Soap Dish Bracket, drill the fixing hole in the wall, insert the
Wall Plug. Clean the area. (4a)

Re-fit the Soap Dish assembly to the Soap Dish Bracket and fix the relevant Soap Dish Bracket to the wall
using the No. 8 x 32mm Csk Head Posidrive Screw. (4a)

Adjust the Soap Dish to the wall and glass as required checking the alignment of the Bath Screen Panel to
the inside edge of the bath.

Fit the Hinge Covers. (4b). Fit the Wall Jamb Top Cap
Apply a bead of Silicon on the inside between the Wall Jamb and the tiles(4¢) and along the outside of

the Small Glass Panel where it meets the bath. (4d) Masking tape can be used to achieve a tidy edge to the sealant.
Remove the masking tape immediately and allow the silicon to cure for 24 hours before using the shower .

matki sHowerING

MATKI PLC CHURCHWARD ROAD YATE BRISTOL BS37 SPL

TEL 01454 328816 (After Sales) FAX 01454 315284 E-MAIL: techsupport@matki.co.uk ki

43

Illﬂlk"sm)wsmnc

13
Matki PLC, Churchward Road, Yate,

EN 14428:2008+A1

T&A 1032AF 01/14



